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QUESTION 1

Which is a feature of certain Cisco RV series routers? 

A. Intelligent Path Control for policy-based routing 

B. integrated Sourcefire Intrusion Prevention 

C. intelligent caching with Akamai Connect 

D. secure VPN access for 5 to 100 users 

Correct Answer: D 

 

 

QUESTION 2

Which product is considered part of the Cisco Meraki full stack? 

A. UCS servers 

B. MR wireless access points 

C. Aironet wireless access points 

D. Catalyst switches 

Correct Answer: B 

 

 

QUESTION 3

Where on the Web User interface can customers find details of application visibility and control? 

A. the monitoring panel 

B. the dashboard 

C. configuration 

D. troubleshooting 

Correct Answer: B 

 

 

QUESTION 4
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Which Catalyst 9800 series controller would you recommend for a small branch and campus deployments up to 200
APs? 

A. Catalyst 9800-SW 

B. Catalyst 9800-CL 

C. Catalyst 9800-40 

D. Catalyst 9800-80 

Correct Answer: A 

 

 

QUESTION 5

Which of these statements clearly depicts increasing sophistication in the security threat landscape? 

A. 65% of attacks evade existing security tools 

B. 66% of connected devices are mobile 

C. 28% of top security constraints are caused by product compatibility 

D. 25% of users spend their worktime off network 

Correct Answer: A 
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